

# Declaration of Compliance for materials made from wood intended to come into contact with food

## **Product information:**

Product Name: Disposable Wooden Cutlery

Material: Wood

## <u>Information on identity of issuer, manufacturer or importer:</u>

DOC issuer name: Greenwood (Dalian) Industrial Co.,Ltd.

DOC issuer address: Yanjiadian Village, Huajia Street, Jinzhou District, Dalian

City, China

DOC issuer Tel: Ms. Wang Guojie +86-411-87209777 Email:qc4@dl-goodwood.com

## The compliance of the regulation(s):

Hereby we declare that the above product intended to come into contact with the food complies with the following EU Commission regulations:

- Framework regulation (EC) No 1935/2004/EC on materials and articles intended to come into contact with food
- Commission Regulation 2023/2006/EC on good manufacturing practice for materials and articles intended to come into contact with food

### **Substances with restrictions:**

There is no substances with restrictions used in this product.

Name of Substance	Restriction (SML,QM,SML(T),etc)
1	1

### Information on dual use substances, if used, and on specific migration.

There is no dual use additives used in this product.

## **Specification of the intended use of restrictions:**

• type or types of food with which it is intended to be put in contact:

all kinds of food

• time and temperature of treatment and storage in contact with the food;

Any food contact conditions that include hot-fill and/or heating up to a temperature where  $1^{\circ}C \le T \le 85^{\circ}C$  for maximum of time =  $120/2^{\circ}((T-70)/10)$  minutes.

• the highest food contact surface area to volume ratio for which compliance has been verified

The compliance is established by surface to volume ratio of 6dm2 per kg of food.

#### Functional barrier:

No functional barrier is used in the product



## 大连歌瑞恩实业有限公司

## Greenwood (Dalian) Industrial Co., Ltd.

## **Non-intentionally added substance:**

Non-intentionally added substance means an impurity in the substances used or a reaction intermediate formed during the production process or a decomposition or reaction product. There is no non-intentionally added substance used in this product.

## **Ascertainment of the conformity:**

Industrial or business usage of the material specified herein is subject to ascertainment of the material conformity to legislations in force as well as to the technological suitability of the same for its intended purpose.

## **Validity:**

You will be informed of any changes in the composition of our above mentioned products and the declaration shall be updated. This declaration is valid as of the date specified below and it will be replaced when significant changes in the production of the material will cause changes of some essential requirements referring to the conformity or when legislations specified will be modified and updated in such manner as to require a new evaluation of the compliance.

FSC Certificate Co	de: DNV-COC-001618		
FSC-License Code: FSC-C140458			
PORT OF LOADING: DALIAN,CHINA			
GW NO.	DESCRIPATION	UNIT	
GW-2453D-W	Wooden cutlery kit(3/1), Wooden knife, Wooden fork, napkin packed in kraft paper bag, FSC 100% DNV-COC-001618 Packing: 50 sets/PE bag, 5 bags/carton	CTN	
GW-2404W	Wooden Fork FSC 100% DNV-COC-001618 Size:160*26*1.7mm Packing:100pcs/bag,20bags/ctn	CTN	
GW-2406W	Wooden Knife FSC 100% DNV-COC-001618 Size:165*22*1.7mm Packing:100pcs/bag,20bags/ctn	CTN	
GW-2405W	Wooden Spoon FSC 100% DNV-COC-001618 Size:160*34*1.7mm Packing:100pcs/bag,20bags/ctn		
GW-2407W	Wooden Spoon FSC 100% DNV-COC-001618 Size:110*23*1.4mm Packing:100pcs/bag,20bags/ctn	CTN	



# 大连歌瑞恩实业有限公司

# Greenwood (Dalian) Industrial Co., Ltd.

GW-2406P-W	Wooden cutlery kit(1/1),Wooden Knife+ kraft paper bag FSC 100% DNV-COC-001618 Size: 165*22*1.7mm Packing: 50 sets/PE bag, 5 bags/carton	CTN
GW-2404P-W	Wooden cutlery kit(1/1),Wooden Fork+kraft paper bag FSC 100% DNV-COC-001618 Size: 160*26*1.7mm Packing: 50 sets/PE bag, 5 bags/carton	CTN
GW-2405P-W	Wooden cutlery kit(1/1),Wooden Spoon+kraft paper bag FSC 100% DNV-COC-001618 Size: 160*34*1.7mm Packing: 50 sets/PE bag, 5 bags/carton	CTN
GW-2407P-W	Wooden cutlery kit(1/1),Wooden Spoon+kraft paper bag FSC 100% DNV-COC-001618 Size: 110*23*1.4mm Packing: 100 sets/PE bag, 5 bags/carton	CTN
GW -2908P	Wooden Coffee stirrer Size:140*6*1.3mm FSC 100% DNV-COC-001618 Packing: 1pc/paer bag, 1000pcs/PE bag,10PE bags/carton	CTN
GW -2518B	Bamboo Chopstick Size:210mm FSC 100% DNV-COC-001618 Packing:Half a sealing bag, 100 pairs/bag,20 bags/carton	CTN
9	Bamboo skewer Size: 60mm Packing: 100 pcs/PE bag, 100 bags/carton, 10000 pcs/carton	CTN
	Bamboo skewer Size: 90mm Packing: 100 pcs/PE bag, 100 bags/carton, 10000 pcs/carton	CTN
	Bamboo skewer Size: 120mm Packing: 100 pcs/PE bag, 100 bags/carton, 10000 pcs/carton	CTN



# 大连歌瑞恩实业有限公司

## Greenwood (Dalian) Industrial Co., Ltd.

Bamboo skewer Size: 150mm Packing: 100 pcs/PE bag, 100 bags/carton, 10000 pcs/carton	CTN
Bamboo skewer Size: 180mm Packing: 100 pcs/PE bag, 100 bags/carton, 10000 pcs/carton	CTN
Bamboo skewer Size: 210mm Packing: 100 pcs/PE bag, 100 bags/carton, 10000 pcs/carton	

This declaration was prepared by	Signature
Date of issue	January 12, 2024.

